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1.  Suppose you are an investor with a long-term investment horizon and plan to invest in long-term securities.  According to the liquidity preference theory are you better off, worse off, or is it unclear whether you are better off or worse off than if you had invested in short-term securities?











2. Assume the Inflation Risk Hypothesis is correct and that inflation is expected to remain unchanged over the next 20 years.  What shape will the yield curve have?











Use the following information to answer questions 3 through 5.  According the Tuesday’s Wall Street Journal, the return on a Treasury strip that matures in February, 1999 is 5.47%, the return on a Treasury strip that matures in February, 2000, is 5.45%, and the return on a Treasury strip that matures in February, 2001, is 5.48%.  





3.  If inflation is expected to be 3.1% between now and February, 1999, what is the expected real return on the Treasury strip that matures on February, 1999?

















4.  If the liquidity preference theory is correct, what can we conclude about what the return on a one-year Treasury strip will be in February, 2000?














5.  If the expectations hypothesis is correct, what can we conclude about what the return on a one-year Treasury strip will be in February, 1999?











Use the following information to answer questions 6 and 7.  Assume you are considering investing in one of the following assets.  In analyzing these assets you have collected the total returns on each over the past 3 years as follows:





Year	Return on A	Return on B


1995	14%	43%


1996	-5%	-12%


1997	32%	15%





6.  Suppose that you invest in the asset that has had the highest return over the past 3 years.  What is your best estimate of the return you will earn on this asset in 1998?











7.  Suppose that you invest in the asset that had the lowest standard deviation over the past 3 years.  What is your best estimate of the standard deviation of returns on this asset in 1998?
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Use the following information to answer questions 8 through 10 (note: put your answers to 6 through 8 on the same graph).  Suppose you are considering combining the following assets into a portfolio:





Asset	Expected return	Standard deviation of returns


A		9%	18%


B		22%	38%


C		12%	24%


T-bill	4%	0%





8.  In the space below, sketch and label (with an 8) a reasonable efficient set.


9.  In the space below, sketch and label (with a 9) the optimal combination of A, B, and C.


10.  Assume you are less risk averse than the average investor.  In the space below, identify and label (with a 10) your optimal combination of the portfolio you identified in number 9 with risk-free borrowing or lending.














